
Pompe	
  



Impian+	
  idrici	
  

•  Prevalenza	
  totale:	
  
•  Lavoro	
  per	
  kg:	
  
•  Hp	
  sono	
  le	
  perdite	
  nella	
  pompa	
  
•  Prevalenza	
  manometrica:	
  

•  Trai	
  due	
  serbatoi:	
  

•  Hc	
  sono	
  le	
  perdite	
  del	
  circuito	
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Potenza	
  richiesta	
  

•  La	
  potenza	
  richiesta	
  dalla	
  pompa	
  è	
  data	
  da:	
  

P = ρQgHt

1000ηp

kW[ ]

ηp =
gHt

Lmecc



Pompe	
  centrifughe	
  



Curva	
  cara@eris+ca	
  



Similitudine	
  



Similitudine	
  

•  Due	
  pompe	
  con	
  prevalenze	
  e	
  portate	
  diverse	
  
hanno	
  la	
  potenza	
  secondo	
  questo	
  rapporto:	
  

•  Se	
  le	
  macchine	
  sono	
  simili:	
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Similitudine	
  

•  Possiamo	
  scrivere	
  il	
  rapporto	
  tra	
  le	
  dimensioni	
  
come:	
  

•  Inserendolo	
  nel	
  rapporto	
  delle	
  potenze:	
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Geometria	
  della	
  pompa	
  



Influenza	
  di	
  ns	
  



Regolazione	
  per	
  strozzamento	
  



Regolazione	
  per	
  by-­‐pass	
  

•  Perdite	
  di	
  carico	
  nel	
  circuito	
  
iniziali:	
  	
  

•  Perdite	
  di	
  carico	
  a	
  portata	
  rido@a:	
  

•  	
  Prevalenza	
  richiesta	
  alla	
  pompa:	
  

•  	
  Portata	
  bypassata:	
  

HpA = HA −Hu

Hp2 = H2 −Hu

H1 = H2 = Hu +Hp2

Q3 =Q1 −Q2



Regolazione	
  per	
  numero	
  di	
  giri	
  



Pompaggio	
  



Cavitazione	
  
•  In	
  generale	
  possiamo	
  scrivere	
  
tra	
  il	
  pelo	
  libero	
  e	
  la	
  sezione	
  di	
  
ingresso	
  della	
  pompa:	
  

•  Tra	
  la	
  flangia	
  di	
  aspirazione	
  e	
  
ingresso	
  delle	
  pale:	
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2 − c0

2

2g
+Hp

pA
ρg

+
cA
2

2g
= p1
ρg

+
c1
2

2g
+Hpin



Cavitazione	
  

•  Possiamo	
  scrivere	
  le	
  perdite	
  dividendole	
  in	
  
concentrate	
  e	
  distribuite:	
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Massima	
  altezza	
  di	
  aspirazione	
  

•  Applicando	
  Bernoulli:	
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Pompe	
  in	
  serie	
  e	
  in	
  parallelo	
  



Innesco	
  pompe	
  centrifughe	
  



Pompe	
  monostadio	
  



Pompe	
  Mul+stadio	
  



Pompe	
  sommerse	
  



Pompe	
  sommerse	
  



Pompe	
  assiali	
  o	
  a	
  elica	
  



Pompe	
  alterna+ve	
  	
  



Pompe	
  volumetriche	
  a	
  lobi	
  



Pompe	
  a	
  ingranaggi	
  



Pompe	
  a	
  vite	
  



Altre	
  pompe	
  volumetriche	
  


